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2021

HISTORY — HONOURS
Eighth Paper
Full Marks : 100

Candidates are required to give their answers in their own words
as far as practicable.
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[English Version]

The figures in the margin indicate full marks.

. Answer any two questions :

(a) How did Mussolini come to power in Italy?

(b) Write a short note on Dawes Plan.

(c) What is Truman Doctrine?

(d) How would you explain the significance of COMECON?
(e) Briefly discuss about WTO.

. Answer any two questions :

(a) Write a note on the Cuban Missile crisis.

(b) What is the Ping-Pong diplomacy?

(c) What was the role of Marshall Tito in the Non-Aligned Movement?
(d) What is Glasnost?

(e) What is Unipolarism?
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Answer any one question : 10x1
(a) Discuss the significance of the Locarno Pact (1925) in European politics.

(b) Why did the Weimer Republic fail?

(c) How did the Rome-Berlin-Tokyo Axis emerge?

Answer any one question : 10x1
(a) How did the Third World emerge?
(b) Evaluate the role of Ho-Chih-Minh in the liberation movement of Vietnam.

(c¢) To what extent Mikhail Gorbachev was responsible for the disintegration of the Soviet Union?

Answer any three questions taking at least one from each Group.

Group - A
Explain the Reparation problem. How did it affect the Franco-German relations during the inter-war
period? &+12
Discuss the origin of the Policy of Appeasement. Was the Appeasement policy justified? 12+8
Explain the formation of the military and economic alliances during the Cold War period. 20

Do you agree with the view that De-Stalinisation took place in Eastern Europe in the decades of
1950s and 1960s? 20

Group - B
How did the Sino-Soviet relations turn bitter in the 1950s and 1960s? 20
Discuss the Indo-Pak relations between 1947—64 with special reference to the Kashmir problem. 20
How did the Middle-East become a storm-centre in world politics during the Cold War? 20

What is Globalisation? Analyse its impact on contemporary politics, economy and culture. &+12




